TASK B: Binary Sum
After mastering the art of the decimal number system, Pesho and Gosho are exploring the binary number system (they heard it’s got something to do with computers, so they are keen on mastering it too). Since Gosho’s character counting program was so successful, he now has a task for Gosho to test his programming skills in the Horrifying World Of Binary Numbers (MUAHAHA!!!).


Gosho gives Pesho a sequence of positive integer numbers and Gosho must find their binary sum. The binary sum of such a sequence is produced by summing the digits of the numbers in their binary representation modulo 2. An example is shown below.
The binary sum of  8, 15, 12 и 2 is 9:

	
	23
	22
	21
	20
	

	8 = 
	1
	0
	0
	0
	

	15 =
	1
	1
	1
	1
	

	12 =
	1
	1
	0
	0
	

	2 =
	0
	0
	1
	0
	

	
	1
	0
	0
	1
	 =  9


Input

The first line of the input contains the number K of tests. Then K test cases follow. Each test case starts with a number N (1 <= N <= 1000000). Then N positive numbers follow (all of them fit in a standard 32-bit integer type). The input might be filled with all kinds of whitespace at random places.
Output

For each test case in the input you should output one line containing the binary sum of the numbers in the corresponding test case.

	Sample input
	Sample output

	2
4 8 15 12 2

6 1 2 4 8 16 32
	9

63


